NCERT Solutions for Class 11 Economics Statistics for

Economics Chapter 7 Index Numbers
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wg ad 1980 W Hivw =¥ 2005 #t Hiwa
w95y 100 200
E S 20 L 25
A 1w fastedt 15 20
A fFa 30 40
fafay 35 65
IR SNt fHatg AR gardbich 1 f=mtor
L5 wf 1980 # | W 2005 ¥ | wifta (w) | whwa oA | wiRw arUW WR
wtw (P0) | i (PD) SOR
P
@ 100 200 75 200.00 15000.00
Fug 20 25 10 125.00 1250.00
A o fawet 15 20 5 133.33 666.65
whA fwua 30 40 6 133.33 799.98
fafay 35 65 4 185.71 742.84
Fa TW =100 TWR = 18459.47
2005 & fad CPI=XIWR/IW = 18459.47 / 100184.59
R.15. fFreferRaT ARvft o sarigdes afey wd saeht fewoft #ifdm |
it SeTET g (ATAR 1993-94 )
I % o 1996-97 2003-2004
QW gahld 100 130.8 189.0
@ TE IoET 10.73 118.2 146.9
fafmior 79.58 133.6 196.6
famem I 10.69 122.0 172.6
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g g yard o L e T fafas
o W = 35% 10% 20% 15% 20%
2004 # FiHa (¥ ) 1500 250 750 300 400
1995 # Hid (T9d o) 1400 200 500 200 250

1995 Pt AT H 2004 # fHalg TaHiP HT A1 T BFT?

IR IRAR soie A gRT S fFraTe arTa gaehics @1 femor:

TE WS | WR (%) | #ww 1995 | @A A AR | AR AT
w (P0) 2004 L (WR)
R=p5 %100
(P1) 0
LG |11 35 1400 1500 107.14 3749.9
T 10 200 250 125 1250
HIS! 20 500 750 150 3000
& 15 200 300 150 2250
fafay 20 250 400 160 3200

Sfteq fafe e g9i® 2004 F7
CPI = TWR/IW
= 13449.9 /100
= 134.499
3T: 1995 ®T IO H 2004 H 34.499% T TG IE T B
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R®.21. fFrfeRea sifeg R & -

ud afreifvs siftret g i yritfs feredt siftren @ ot g
& CPI waaritarl & CPI (1986-87 = 100) quwiE
(1982 = 100) CPI (1984-85 = 100) (1993-94
= 100)
1995-96 313 257 234 121.6
1996-97 342 283 256 127.2
1997-98 366 302 264 132.8
1998-99 414 337 293 140.7
1999-00 428 352 306 145.3
2000-01 414 352 306 155.7
2001-02 463 390 309 161.3
2002-03 482 405 319 166.8
2003-04 500 420 331 175.9
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